MAT 1375, Classwork13, Fall2024
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1. The Exponential and Logarithmic functions and one-to-one property:

For b > 0,b # 1, the exponential and logarithmic functions are Ohg ~ To—ouL

b*=bY & x=y
logy(x) =log,(y) & x=y

2. Solve for x: 4% (2)

a) log,(x +5) = logz(x + 3) b) log(x) + log(x + 4) = log(5).
¢)In(x+2) +In(x —3) =In (7). d)logs(x —7) +logs(2 — x) = logs(4).
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4. How about the equations without the same base on both sides?(For example, 4* = 15.)

5. Using Logarithms to Solve Exponential Equations:

Stepl: l ) ingQ, the exponential expression.

=

Step2: Take on both sides of the equation for common base / 0
or natural base O, .

Step3: Simplify using one of these properties:

In(b*) = X (b)) orin(e) = Z orlog(10%) = ‘X 1
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